l. Installation Notice

1. Install water supply lines in accordance with this manual.

2. Floor drain should be installed in the location of the
faucet.

- Excluding the valve, the other exposed parts must be
installed after the completion of house interior decoration
in case paint or other chemicals erode the faucet surface.
Notice that the protection sheath on the valve cannot be
taken off before installing mounting parts.

. Clean pipes to get rid of mud, sand or other debris
blocked in pipes.

. Check whether the threads can be matched. Otherwise,
too strong force applied to the wrench will damage the
faucet.

. After installation, check all the joints to make sure they
are firmly connected. Then keep water flow. Turn on and
off repeatedly to ensure there is no leakage around the
joints. At this stage, the product is ready for normal use.

7. Keep the manual to the user.

Il. Operation Notice

1. The product is used between water pressure 0.05~

1.0MPa, water temperature 4~90°C.

Do not hang heavy things on the faucet.

Make sure the faucet is off when no water comes out of

it (especially when nobody resides in the house or during

the period of decoration or the absence of water).

. Always clean the surface of faucet to keep it bright.
Attention: Please do not use inappropriate tools such as
sharp brushes,rough sponges, scouring pads or corrosive
detergent to clean the faucet, and we do not recommend
that you use the detergent sold in the market, because its
formula is changing frequently. Please clean the faucet by
wet cloth and soapy water after each time of usage. Then
rinse the soap out with clean water and dry with a soft

2
3.

cotton cloth.

- When the room temperature drops to below 0°C, take
necessary measures (such measures as keeping faucet
warm and closing windows) to prevent the faucet from
being frozen or even broken (especially when windows
kept open for air ventilation while nobody resides in).

. First turn on cold water, then hot water. To avoid scalding,
regulate the water temperature before washing or
showering and do not touch the faucet of hot water part.

7. Do not disassemble the product unless you are an expert, ||

BS02051036

The installation dimensional drawing:

— 102~

B232min E + Zj::

30max

G-
Thé instahé!iori diagram:
: = :

M4 Screw
Hand Wheel

Escutchean

Rubber Washer

Locking Washer

Locking Nut

Feeding Valve

) _,/-é 3

Lavalory @

-
—

Faucet Body 5
Decorative Ring
Rubbar Washer @
£ ns
—z PP
St !

Locking Washer

Double-wedge Nut _

Protection Sheath

Loosan M4 screw and
remave by tuming the
hand wheel, escutcheon
and decorative ring
Screw off the locking nut
to the bottom

Place two feeding valves
through the lavatory holes
with red on the left and

blue on tha righl. Keep the
outlets on valves towards
each other. Pul on decorative
ring and tighten escutcheon

Remaove the protection
sheath. double-wedqge
nut, locking washer
and rubber washer




Decorative Ring

" Place thé faucet body through |
| the decorative ring and lavatory |
holes. Pad the rubber washer
and locking washer. Tighten the
double-wedge nut and tighten

._with faslening screw.

{ 5 “Connect the upper Iif} | 6
| rod and lowar lift rod

! Upper Lift Rod

| J
Lower Lift Rod p
|

| 7 rUs;;r;cﬁon tub-e;\g

1o connect right and ieft
feeding valves and

| T-joint. Tighten the

| connection Nuts.

[
/
/

@16 O-ring,/” V!a_sher,il

9
Spout

Protection Sheath

10

/ @16 O-ring|

/Nut /Connection Pipe

Connect the lift rod and",
‘WanE set J

(Take off the protection ||

Stop Collar

[
i
[

‘Insert the nut inta the slot in the |

faucet body. Connect the Iift rod,

( Screw the locking nut and
| fastening screw tightly on
|_the feeding valve body.

| Instail the spoul and

| lighten it with M4 screw.
Then rotate the hole of

l stop coltar to the back |
-of spout. !

M4 Screw

| Finish the instailation (turn
i on water for inspection)

niat




